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Figure S4. Scatterplot of enriched GO terms for DEGs using semantic clustering (REViGO). (A) FBS1 vs. FBS2, (B) FBS2 vs.

FBS3, and (C) FBS1 vs. FBS3. Each circle represents a cluster of GO terms related to a similar process, and the size of the
circle represents the number of GO terms grouped in that cluster. The color of the circles indicates the P-value of the GO
enrichment analysis; red indicates the highest P-value and blue the lowest. The cutoff P-value for the GO enrichment

analysis was set to 1E-03.



